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datatype arrayName[intExpl][intExp2] ;
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float matrix[2][3];
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const int NUM_ROWS = 2;
const int NUM_COLS = 3;
float matrix [NUM_ROWS] [NUM_COLS] = {{5.0, 4.5, 3.0}, {-6.0, 2.5, 1.0}};
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[0] [1] [£]
[0] 50 | 45 | 3.0

(11 | -0 | 25 | 1.0
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Y119 FOWS * NUM_COLS

float sumMatrix
(float table [ ] [Num_coLs] , Int rows)
{
float sum = 0.0;
for (intr=0; r<rows; r++)
for (intc=0; c<NUM_COLS; c++)
sum += table [r] [c];
return sum;
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void Input(intA[ ][ ])
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void Input(int A[ 3][4] )
void Input(int A[ ][4] )
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void PrintMatrix(const int[][4],int);
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int A[3][4]: void Inputl(int[][4];
Int row,col; _ _
void Input(int A[][4])
for(row=0;row<3;row++) {
for(col=0;col<4;col++)
cin>>A[row][col];

Int row,col,
for(row=0;row<3;row++)

for(col=0;col<4;col++)
cin>>A[row][col];
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int A[3][4]; . :
int row,col: Int SumData(const int x[][4])
int sum; 1 _
sum=0: int row,col;
int sum=0;

for(row=0;row<3;row++)
for(col=0;col<4;col++)
sum=sum+A[row][col];

for(row=0;row<3;row++)
for(col=0;col<4;col++)
sum=sum+x[row][col];
return sum;
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int A[3][4]; : .
int row,col; void SumRow(const int x[][4])
Int sumrow: {
int row,col , sr;
for(row=0;row<3;row++) for(row=0;row<3;row++) {
{ sr=0;
sumrow=0; for (col=0;col<4;col++)
for(col=0;col<4;col++) sr=sr+x[row][col];
sumrow=sumrow-+A[row][col]; cout<<"Sum of row "<<row+1<<
cout<<* Sum of row "<<row+1 "= "<<sr<<endl; }
<<"="<<sumrow<<endl; ¥
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int A[3][4]; void SumCol(const int X[][4])

int row,col; {

int sumcol; int row,col;

for(col=0;col<4;col++) int sc=0;

{ for(col=0;col<4;col++)
sumcol=0; for(row=0;row<3;row++)
for(row=0;row<3;row++) sc=sc+x[row][col];
cout<<"Sum of column "<<col+1<<"=*

sumcol=sumcol+A[row][col]; <<sc<<endl,

cout<<"Sum of column }

"<<col+1<<"= "<<sumcol<<endl:

}
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int A[3][4]; void MaxRow(const int x[][4])
int row,col; {
Int max; int row,col;
for(row=0;row<3;row++) Int max=0;
{ for(row=0;row<3;row++)
max=A[row][0]; {
for(col=1;col<4;col++) max=A[row][0];
If(max<A[row][col]) for(col=1;col<4;col++)
max=A[row][col]; If(max<A[row][col])
cout<<"Max of row "<<row+1<<"= max=A[row][col];
"<<max<<endl; cout<<"Max of row "<<row+1<<"=
} <<max<<endl;
¥
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int A[3][4];

int row,col;

Int sum,sumrow,sumcol,max;

for(col=0;col<4;col++)

{
max=A[0][col];
for(row=1;row<3;row++)
If(max<A[row][col])
max=A[row][col];

cout<<"Max of column

"<<col+1<<"="<<max<<endl;

}

void MaxCol(const int x[][4])

{

int row,col;
int max=0;
for(col=0;col<4;col++)
{
max=A[0][col];
for(row=1;row<3;row++)
If(max<A[row][col])
max=A[row][col];
cout<<"Max of column "<<col+1
<<"="<<max<<endl;
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INPUT
0-goal 1-silver 2-no card

select 0/1/27? 1
buy = 5000



OUTPUT

Buy = 5000
Discount=7 %

= 350 Baths
Net = 4650 Baths
Runagain Y/N ? N

Total money received = XXXXX Baths
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INPUT

20000 450000 30000
93000 2000 5000
10000 200000 100000




OUTPUT

NO. TOTAL % Baths
1. 500000 3 15000

2. 100000 0 0

3.

SUMARY : Total commission = XXXXX Baths



